2023 Spring Advanced Calculus IT 1

Quiz 2
Answer all questions. Make your presentation clear and clean. Each question carries 10 marks.

1. Let D be the region bounded by zy = 1,2y = 3,y = z and y = 5z in the first quadrant.
Find its area by using a change of variables to t1 ansfoun D mto a 1ectang1e
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2. Let C = C1 + Cy where C is the line segment from (0,0, 0) to (—1,2,0) and C is the line
segment from (—1,2,0) to (0,2,1/2). Evaluate the line integral
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3. Let F' = 7yi—zj. Find (a) the circulation of F' around the unit circle 22 442 = 1 oriented
in the anticlockwise way and (b) the outward flux of F' across the same oriented circle.

P(?Uc) Cos & T4 Siu €], al(ﬁ:~5ah%€¥ Gos 3'\,

O b = <(>§ Mdy+N &%: g ﬂ(smt(fsmt) bos t( Gos ) oL
o
= S‘—A’QL)\JC“‘CQ»% ot = -- = - %T(‘

6
e

O e o § Mg-Nd= [ Asmtleah)-toblbey &
- C °

(AT

- %yrrsu Ll dt = 4’{ Sin 26 AL

:O#



